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Practice Test —Linear Systems of Equations

Show all work in a neat and organized manner!!!
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2. Solve the following linear system by SUBSTITUTION. Check your solutions in both equations.
y=2x+1 O]
y=-x-23® b ¥ =~ o © g
SR RN Civeck C"%J - \53
L+l =X~23 \G:Q_X_‘_\ o 3
LR RS Q| e
Lxrrz ~23-) =2.(=%) + | S b ] — > \ ’zi
9 — —
Y [Lxv) y |—x-23
By = -2M U:-—l(g-r-t ‘ -
— ’:; = TS =228 —1S (%) -23
% e ~
L\'LL»_,‘S ==l +) ‘\ Al
Em | 2 ¥15 r e
v v’

2. POT vv (%, —1S)

3. Is the point (-3, 2) a solution to the following linear system2 SHOW YOUR WORK.
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4. Solve the following linear system by ELIMINATION. Check both solutions.
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5. Consider the linear systemx +y =15
x-y=17

a) To eliminate the x terms, would you add or subtract the two equations? __ dDWlotra -

b) To eliminate the y terms, would you add or subtract the two equations? add

c) Will you end up with the same point of intersection if you add OR subtract the two
equations? Explain.
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6. ltis possible for a system of linear equations to have NO solution. Consider the linear system
y=2x+3
y=12x-4
There is no solution (point of intersection) between these two lines. How can you tell2

When “ne \ines are Parallel, +hey will never
\nYersect.

Parallel lines \ave dhe same Slope
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7. The sides of a triangle lie on the following three lines.

@
x+y=15 @ ®
x-2y=-8 @
5x+2y=48 O ®
a) Use elimination or substitution on @ and @ to find the coordinates of the point of intersection
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b) Use elimination or substitution on @ and @ to find the coordinates of the point of intersection
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c) Use elimination or substitution on @ and @ to find the coordinates of the point of intersection
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APPLICATION

8. At an exclusive Pearl Jam concert two types of tickets were sold (adult tickets and student
tickets). This situation can be represented by the following system of equations:

Let A represent the number of adult tickets sold.
Let S represent the number of student tickets sold.

75A + 508 = 32 500 &
A+S =475 @

a) From one of the above equations, how many tickets in total were sold?

H1S k= wWere soUd

b) From one of the above equations, how much did an adult ticket cost?2 How much did a student
ticket cost?

4
®  An adult ticket cost 15
%
= A student ticket cost SO

c) How much was the TOTAL sales for ALL the tickets sold?

F 232 Soo

d) Solve the system of equations to determine how many adult tickets were sold and how many
student tickets were sold.
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